Problem set 2: Çözümler 7. Hafta başında webe konacaktır.
1. P&S 2. Baskı Problem 2.35 (1. Baskı Problem 2.61)
2. P&S 2. Baskı Problem 2.37 (1. Baskı Problem 2.63)
3. P&S 2. Baskı Problem 2.38 (1. Baskı Problem 2.64)
4. A random analog message has values -8V<f(t)<8V. If samples of f(t) are to be quantized using an 8-bit binary code in a uniform quantizer, what voltage levels form the boundaries of the quantizer’s intervals (decision thresholds)? What is a reasonable set of reconstruction levels if no further knowledge is available about f(t)?
5. A PCM system uses a uniform quantizer followed by a 7 bit binary encoder. The bit rate of the system is equal to 50x106 bits per second.
a) What is the maximum message bandwidth for which the system operates satisfactorily?

b)Determine the output signal to quantizing noise ratio (in dB) when a full-load sinusoidal modulating wave of frequency 1 Mhz is applied to the input. Note that distortion is not dependent on the input.
6. P&S 2. Baskı Problem 6.53 (1. Baskı Problem 4.53)
